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A. Review Unit 6: Global warming by: 
- drawing a mindmap for Unit 6 to review all the vocabulary, pronunciation & grammar of the Unit 6.
- doing all the exercises in your Workbook from page 5 to page 10 (Unit 6: Global warming), then check the answers after having completed them.
B. Do the TEST YOURSELF below, then check the answers at the end of the test.


TEST YOURSELF
I. Choose the word which has the underlined part pronounced differently from the rest.
1. A. degree 		B. doctorate 		C. graduate 		D. kindergarten
2. A. bachelor 		B. chapter 		C. chemistry 		D. teacher
3. A. culture 		B. student		C. institution 		D. university
4. A. appreciate 	B. psychology 	C. programme		D. respectively 
5. A. academic 	B. apply		C. apology		D. achieve 
II. Choose the word which is stressed differently from the rest.
1. A. biology 		B. geography 		C. education 		D. relationship 
2. A. broaden 		B. provide 		C. pursue		D. succeed 
3. A. college 		B. degree		C. language 		D. subject 
4. A. analytical 	B. opportunity 	C. qualification 	D. university
5. A. bachelor 		B. diploma 		C. internship 		D. scholarship
III. Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 
1. The president of the company officially apologised to the local residents ____ having dumped a large amount of raw sewage in the area. 
A. about 		B. with			C. at			D. for
2. The factory was accused ____ having caused higher level of pollution to the environment. 
A. about 		B. on			C. of			D. for 
3. We all admire him ____ having changed both his attitude and behaviours towards the environmental issues.
A. about 		B. for			C. with			D. at 
4. Human activities are also blamed ____ having contributed to global warming. 
A. for 			B. on			C. at 			D. with 
5. We congratulated him ____ having invented an energy-saving device. 
A. for 			B. at			C. about		D. on 
6. He was criticised ____ not having put the elephant poachers in jail. 
A. at 			B. about 		C. for			D. on 
7. His company was punished ____ not having dumped the rubbish properly. 
A. by 			B. for 			C. about		D. because of 
8. The city mayor praised all voluntary students ____ having cleaned the playgrounds for the children. 
A. for 			B. because of		C. at			D. due to 
9. He thanked us ____ having contributed to cleaning the surrounding environment. 
A. on 			B. to 			C. with			D. for 
10. He was suspected ____ having received presents from the local companies and ignored their violations of the environmental law. 
A. about 		B. on			C. of			D. for 
11. Even when arrested, he denied ____ cut down that tree. 
A. has 			B. having 		C. have		D. have had
12. Those farmers admitted ____ having used more chemical fertilisers than needed.
A. on 			B. about 		C. for			D. to 
IV. Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 
1. When you sit for the exam tomorrow, try to stay calm and relaxed. 
A. answer 		B. take			C. make		D. write 
2. If the examiner can't make sense of what your essay is about, you'll get the low mark.
A. declare 		B. estimate 		C. communicate 	D. understand 
3. If you want to get a high mark on a test, review the material carefully beforehand. 
A. performance 	B. score		C. figure		D. note 
V. Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 
1. Cutting down on energy use is the best way to help reduce global warming.
A. Shrinking 		B. Declining 		C. Decreasing 		D. Increasing 
2. We should grow more trees so that they can absorb more carbon dioxide from the atmosphere. 
A. emit 		B. take in		C. consume 		D . cut off 
3. Releasing too much carbon dioxide into the atmosphere can lead to global warming.
A. result in 		B. result from 		C. cause		D. activate
VI. Read the passage carefully, then choose the correct answers.
The natural world is under violent assault from man.
The seas and rivers are being poisoned by radioactive wastes, by chemical discharges and by the dumping of dangerous toxins and raw sewage. The air we breathe is polluted by smoke and fumes from factories and motor vehicles; even the rain is poisoned. It's little wonder forests and lakes are being destroyed and everywhere wildlife is disappearing. Yet the destruction continues.
Governments and industries throughout the world are intensifying their efforts to extract the earth's mineral riches and to plunder its living resources. The great rainforests and the frozen continents alike are seriously threatened. And this despite the warnings of the scientific community and the deep concern of millions of ordinary people.
Despite the fact, too, that we can create environmentally-clean industries, harness the power of the sun, wind and waves for our energy needs and manage the finite resources of the Earth in a way that will safeguard our future and protect all the rich variety of life forms which share this planet with us.
But there is still hope. The forces of destruction are being challenged across the globe - and at the spearhead of this challenge is Greenpeace. Wherever the environment is in danger, Greenpeace has made a stand. Its scientific presentations and peaceful direct actions at sea and on land have shocked governments and industri1es into an awareness that Greenpeace will not allow the natural world to be destroyed. Those actions, too, have won the admiration and support of millions.
Now you can strengthen the thin green line; you can make your voice heard in defence of the living world by joining Greenpeace today. Thank God someone's making waves.
1. Which of these statements is not made?
a. Drinking water is polluted.     		b. Radioactive waste poisons the sea.
c. Sewage isn't processed. 		d. Cars and factories poison the air. 
2. The writer ___________.
a. is surprised that the rain is poisoned
b. is unsured why the air is polluted
c. wonders why the natural world is being destroyed
d. understands why forests and lakes are being destroyed
3. Rainforests are being destroyed because governments and industries ______.
a. are unaware of what they're doing wrong
b. are rich and powerful
c. choose to ignore criticism
d. basically care about the environment
4. The earth's resources __________.
a. should only be for people 	b. can be made to last longer
c. will last forever 		d. belong to just humans and animals
5. Governments and industries ___________.
a. don't know what Greenpeace thinks
b. are forced to understand the problems by Greenpeace
c. can easily ignore Greenpeace
d. misunderstand what Greenpeace thinks

VII. Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each of the following questions. 
1. Having cutting down many trees in the area, now the people here have to suffer really hot summers.
	   A				      B				        C		         D
2. Having decided to use public transport instead private transport, we were determined to reduce 
                A				           B				    C
carbon footprints. 	
     	 D
3. Having cycled to work every day, I become more responsibly for the environmental issues.
	  A			 B			       C				D
4. Having watched TV programmes about the farmers' careless use of chemical fertilisers on they 
                A				  B						   	    C
crops, many citizen dwellers decided to grow their own vegetables.
			                       D
5. Having suffered water shortage in the past, we are all very economic on using water.
	       A				    B			      C		  D
6. Having change our attitude to nature, we started changing our behaviours as well.
	  A			 B			C		   D

VIII. Fill each gap with the correct form of the word in brackets to complete the passage.
Today one of the biggest challenges is to end our (1) _____________________ (depend) on oil, which is increasing global warming and causing (2) _____________________ (pollute). In the UK, there are a number of clean, (3) ____________________ (renew) sources of energy such as wind and wave power so the answer should not be hard to find. The government is trying to reach a (4) ___________________ (decide) on the best policy for the 21st century.
Some people claim that nuclear power is the answer but this produces (5) _________________ (harm) nuclear waste and would result in more environmental threats and the danger of (6) ____________________ (terror). It is (7) _____________________ (clear) not an answer. With education and (8) _____________________ (encourage), people are changing their attitudes to energy. Anyone who wants to be (9) _____________________ (help) can sign on with an electricity company to get electricity generated (10) ____________________ (nature) by the power of the wind and water. This shows support for alternative energy.
IX. Combine the following sentences by completing the second sentences and using perfect gerunds.
1. They have been unprepared for sudden floods last year. They remember that.
 They remember	
2. The US government had provided insufficient supplies for the flood victims. Local communities in New Orleans criticized the US government for that.
 Local communities in New Orleans	
3. Deforestation and overflowing dams have caused worse floods and storms in recent years. Local people in Quang Tri Province blame them for that.
 Local people in Quang Tri Province	
4. The US government caused various diseases and birth defects in Viet Nam with Agent Orange. But the US government denies that.
 The US government denies	
5. It was said that he had pumped salty water into the fields illegally. And he admitted that. 
 He admitted ___________________________________________________________
X. Write sentences, using the words and phrases given. Change the word forms or add some words, if necessary.1. global warming / increase / earth's average surface temperature / due to / warming effects / greenhouse gases /.
 ………………………………………………………………………………………………….
………………………………………………………………………………………………….
2. main cause / global warming / burning of fossi fuels natural gas, oil, and coal /.
 ………………………………………………………………………………………………….
3. even slight increases / levels / carbon dioxide atmosphere / can / cause significant / rise / temperature /.
 ………………………………………………………………………………………………….
………………………………………………………………………………………………….
4. there / connection / between / recent droughts and / climate change /.
 ………………………………………………………………………………………………….
5. farming / contribute / more than 30 percent / total greenhouse gas emissions /.
 ………………………………………………………………………………………………….

------- The end --------














ANSWERS FOR THE TEST YOURSELF
I. Choose the word which has the underlined part pronounced differently from the rest.
1. A. degree 		B. doctorate 		C. graduate 		D. kindergarten
2. A. bachelor 		B. chapter 		C. chemistry 		D. teacher
3. A. culture 		B. student		C. institution 		D. university
4. A. appreciate 	B. psychology 	C. programme		D. respectively 
5. A. academic 	B. apply		C. apology		D. achieve 
II. Choose the word which is stressed differently from the rest.
1. A. biology 		B. geography 		C. education 		D. relationship 
2. A. broaden 	B. provide 		C. pursue		D. succeed 
3. A. college 		B. degree		C. language 		D. subject 
4. A. analytical 	B. opportunity 	C. qualification 	D. university
5. A. bachelor 		B. diploma 		C. internship 		D. scholarship
III. Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 
1. The president of the company officially apologised to the local residents ____ having dumped a large amount of raw sewage in the area. 
A. about 		B. with			C. at			D. for
2. The factory was accused ____ having caused higher level of pollution to the environment. 
A. about 		B. on			C. of			D. for 
3. We all admire him ____ having changed both his attitude and behaviours towards the environmental issues.
A. about 		B. for			C. with			D. at 
4. Human activities are also blamed ____ having contributed to global warming. 
A. for 			B. on			C. at 			D. with 
5. We congratulated him ____ having invented an energy-saving device. 
A. for 			B. at			C. about		D. on 
6. He was criticised ____ not having put the elephant poachers in jail. 
A. at 			B. about 		C. for			D. on 
7. His company was punished ____ not having dumped the rubbish properly. 
A. by 			B. for 			C. about		D. because of 
8. The city mayor praised all voluntary students ____ having cleaned the playgrounds for the children. 
A. for 			B. because of		C. at			D. due to 
9. He thanked us ____ having contributed to cleaning the surrounding environment. 
A. on 			B. to 			C. with			D. for 
10. He was suspected ____ having received presents from the local companies and ignored their violations of the environmental law. 
A. about 		B. on			C. of			D. for 
11. Even when arrested, he denied ____ cut down that tree. 
A. has 			B. having 		C. have		D. have had
12. Those farmers admitted ____ having used more chemical fertilisers than needed.
A. on 			B. about 		C. for			D. to 
IV. Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 
1. When you sit for the exam tomorrow, try to stay calm and relaxed. 
A. answer 		B. take		C. make		D. write 
2. If the examiner can't make sense of what your essay is about, you'll get the low mark.
A. declare 		B. estimate 		C. communicate 	D. understand 
3. If you want to get a high mark on a test, review the material carefully beforehand. 
A. performance 	B. score		C. figure		D. note 
V. Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 
1. Cutting down on energy use is the best way to help reduce global warming.
A. Shrinking 		B. Declining 		C. Decreasing 		D. Increasing 
2. We should grow more trees so that they can absorb more carbon dioxide from the atmosphere. 
A. emit 		B. take in		C. consume 		D . cut off 
3. Releasing too much carbon dioxide into the atmosphere can lead to global warming.
A. result in 		B. result from 	C. cause		D. activate
VI. Read the passage carefully, then choose the correct answers.
The natural world is under violent assault from man.
The seas and rivers are being poisoned by radioactive wastes, by chemical discharges and by the dumping of dangerous toxins and raw sewage. The air we breathe is polluted by smoke and fumes from factories and motor vehicles; even the rain is poisoned. It's little wonder forests and lakes are being destroyed and everywhere wildlife is disappearing. Yet the destruction continues.
Governments and industries throughout the world are intensifying their efforts to extract the earth's mineral riches and to plunder its living resources. The great rainforests and the frozen continents alike are seriously threatened. And this despite the warnings of the scientific community and the deep concern of millions of ordinary people.
Despite the fact, too, that we can create environmentally-clean industries, harness the power of the sun, wind and waves for our energy needs and manage the finite resources of the Earth in a way that will safeguard our future and protect all the rich variety of life forms which share this planet with us.
But there is still hope. The forces of destruction are being challenged across the globe - and at the spearhead of this challenge is Greenpeace. Wherever the environment is in danger, Greenpeace has made a stand. Its scientific presentations and peaceful direct actions at sea and on land have shocked governments and industri1es into an awareness that Greenpeace will not allow the natural world to be destroyed. Those actions, too, have won the admiration and support of millions.
Now you can strengthen the thin green line; you can make your voice heard in defence of the living world by joining Greenpeace today. Thank God someone's making waves.
1. Which of these statements is not made?
a. Drinking water is polluted.     b. Radioactive waste poisons the sea.
c. Sewage isn't processed. 		d. Cars and factories poison the air. 
2. The writer ___________.
a. is surprised that the rain is poisoned
b. is unsured why the air is polluted
c. wonders why the natural world is being destroyed
d. understands why forests and lakes are being destroyed
3. Rainforests are being destroyed because governments and industries ______.
a. are unaware of what they're doing wrong
b. are rich and powerful
c. choose to ignore criticism
d. basically care about the environment
4. The earth's resources __________
a. should only be for people 	b. can be made to last longer
c. will last forever		d. belong to just humans and animals
5. Governments and industries ___________.
a. don't know what Greenpeace thinks
b. are forced to understand the problems by Greenpeace
c. can easily ignore Greenpeace
d. misunderstand what Greenpeace thinks

VII. Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each of the following questions. 
1. Having cutting down many trees in the area, now the people here have to suffer really hot summers.
	   A				      B				        C		         D
2. Having decided to use public transport instead private transport, we were determined to reduce 
                A				           B				    C
carbon footprints. 	
     	 D
3. Having cycled to work every day, I become more responsibly for the environmental issues.
	  A			 B			    C				D
4. Having watched TV programmes about the farmers' careless use of chemical fertilisers on they 
                A				  B						   	    C
crops, many citizen dwellers decided to grow their own vegetables.
			                       D
5. Having suffered water shortage in the past, we are all very economic on using water.
	       A				    B			      C		  D
6. Having change our attitude to nature, we started changing our behaviours as well.
	  A			 B			C		   D

VIII. Fill each gap with the correct form of the word in brackets to complete the passage.
Today one of the biggest challenges is to end our (1) _____________________ (depend) on oil, which is increasing global warming and causing (2) _____________________ (pollute). In the UK, there are a number of clean, (3) ____________________ (renew) sources of energy such as wind and wave power so the answer should not be hard to find. The government is trying to reach a (4) ___________________ (decide) on the best policy for the 21st century.
Some people claim that nuclear power is the answer but this produces (5) _________________ (harm) nuclear waste and would result in more environmental threats and the danger of (6) ____________________ (terror). It is (7) _____________________ (clear) not an answer. With education and (8) _____________________ (encourage), people are changing their attitudes to energy. Anyone who wants to be (9) _____________________ (help) can sign on with an electricity company to get electricity generated (10) ____________________ (nature) by the power of the wind and water. This shows support for alternative energy.
Answers: 
1. dependence	2. pollution		3. renewable		4. decision	5. harmful
6. terrorism		7. clearly		8. encouragement	9. helpful	10. naturally

IX. Combine the following sentences by completing the second sentences and using perfect gerunds.
1. They have been unprepared for sudden floods last year. They remember that.
 They remember	
2. The US government had provided insufficient supplies for the flood victims. Local communities in New Orleans criticized the US government for that.
 Local communities in New Orleans	
3. Deforestation and overflowing dams have caused worse floods and storms in recent years. Local people in Quang Tri Province blame them for that.
 Local people in Quang Tri Province	
4. The US government caused various diseases and birth defects in Viet Nam with Agent Orange. But the US government denies that.
 The US government denies	
5. It was said that he had pumped salty water into the fields illegally. And he admitted that. 
 He admitted ___________________________________________________________
Answers: 
1. They remember having been unprepared for sudden floods last year.2. Local communities in New Orleans criticized the US government for having provided insufficient supplies for the flood victims.3. Local people in Quang Tri Province blame deforestation and overflowing dams for having caused worse floods and storms in recent years.4. The US government denies having caused various diseases and birth defects in Viet Nam with Agent Orange.5. He admitted having pumped salty water into the fields illegally.X. Write sentences, using the words and phrases given. Change the word forms or add some words, if necessary.1. global warming / increase / earth's average surface temperature / due to / warming effects / greenhouse gases /.
 ………………………………………………………………………………………………….
………………………………………………………………………………………………….
2. main cause / global warming / burning of fossi fuels natural gas, oil, and coal /.
 ………………………………………………………………………………………………….
3. even slight increases / levels / carbon dioxide atmosphere / can / cause significant / rise / temperature /.
 ………………………………………………………………………………………………….
………………………………………………………………………………………………….
4. there / connection / between / recent droughts and / climate change /.
 ………………………………………………………………………………………………….
5. farming / contribute / more than 30 percent / total greenhouse gas emissions /.
 ………………………………………………………………………………………………….
Answers: 
1. Global warming is the increase in the earth's average surface temperature due to the warming effects of greenhouse gases.
2. The main cause of global warming is the burning of fossil fuels, such as natural gas, oil, and coal.
3. Even slight increases in the levels of carbon dioxide in the atmosphere can cause a significant rise in temperature.
4. There is a connection between the recent droughts and climate change.
5. Farming contributes more than 30 percent of the total greenhouse gas emissions.

------- The end --------
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